EE 42

Midterm 2

April 13, 2004

PLEASE WRITE YOUR NAME ON EACH ATTACHED PAGE
PLEASE SHOW YOUR WORK TO RECEIVE PARTIAL CREDIT

Problem 1: 15 Points Possible

Problem 2: 15 Points Possible

Problem 3: 15 Points Possible

Problem 4: 15 Points Possible

Problem 5; 15 Points Possible

Problem 6: 15 Points Possible

Problem 7: 10 Points Possible

TOTAL: 100 Points Possible
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Problem 2: 15 Points Possible

Inputs | Output | a) Write the simpiest sum-of-products expression for F in terms of A, B, C, D.
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0lololol 1 | b) Draw the logic circuit for this function using only NAND gates.
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Problem 3: 15 Points Possible

Assume that each gate shown has a
propagation delay of t,, .
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With signals A and B as shown below, sketch signals C, D, and E on the axes provided.
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Problem 4: 15 Points Possible
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Problem 5: 15 Points Possibie
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Problem 6: 15 Points Possible
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Suppose the circuit has been in position “1” for a long time.
At t =0, it switches to position “0”.
At t = 4 us, it switches back to position “1”.

a) Find Vou(t) foralitz 0.

b) Find V1k(t) foralit=z0.
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c) Find the total energy absorbed by the 1 kQ resistor over the time period t 2 0 (ending at =).
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Problem 7: 10 Points Possible
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